

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMK 72E

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	BROKEN	1,702.00	1,510.00
1	FRONT BUMPER SPONGE	BROKEN	178.25	178.25
1	FRONT BUMPER REINFORCEMENT	BUCKLED	460.00	460.00
2	FRONT BUMPER SIDE RETAINER @\$79.00	NECESSARY	158.00	158.00
1	FRONT BUMPER R/H TOW HOOK COVER	DEFORMED	57.50	57.50
1	FRONT BUMPER LOWER GRILLE	NOT NECESSARY	138.00	-
2	FRONT PARKING SENSOR @\$299.00	DAMAGED	598.00	598.00
1	FRONT LOGO EMBLEM W/BASE	BROKEN	166.75	166.75
1	SET FRONT GRILLE - COMPLETE	BROKEN	978.00	768.00
1	BONNET	TO REPAIR SEE LABOUR	2,277.00	-
1	L/H HEADLAMP	BROKEN	3,507.50	3,150.00
1	R/H HEADLAMP	BROKEN	3,507.50	3,150.00
1	R/H FRONT FENDER	BUCKLED	920.00	920.00
1	R/H FRONT DOOR	TO REPAIR SEE LABOUR	1,909.00	-
1	FRONT SUPPORT PANEL	BUCKLED	782.00	782.00
1	DRIVERS SEAT BELT	ACTIVATED	965.20	725.00
1	DRIVERS SEAT BELT BUCKLE	NOT NECESSARY	321.10	-
	LESS 10% DISCOUNT		-	-1,262.35
			18,625.80	11,361.15
	SPECIAL NETT ITEMS			
1	FRONT NO. PLATE (SN)	BROKEN	60.00	50.00
1	FRONT NO. PLATE FRAME (SN)	BROKEN	35.00	35.00
			95.00	85.00
	<u>LABOUR</u>			
	TO PANEL BEAT AND RENEWAL OF ALL NECESSARY DAMAGED BODY PARTS.INCLUSIVE OF THE REPAIR OF BONNET AND R/H FRONT DOOR.		1,120.00	800.00
	TO CHECK FRONT WIRING AND REWIRE.		80.00	60.00
	TO REALIGN HEADLAMP FOCUS.		35.00	20.00
	TO REMOVE AND REINSTALL FRONT PARKING SENSOR.		140.00	60.00

Report Ref No. CS3/CTI19016797/Aqf3e2-2



PORTION)

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

10,600.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	TO REMOVE AND REINSTALL RADIATOR AND A/C CONDENSER.		160.00	80.00
	TO VACUUM AND REFIT A/C REFRIGERANT.		120.00	60.00
	TO RESET CODING.		120.00	75.00
	TO APPLY ANTI-RUST.		48.00	30.00
	TO PUTTY AND SPRAY-PAINT OF AFFECTED AREAS.		867.00	600.00
			2,690.00	1,785.00
	GRAND TOTAL		21,410.80	13,231.15

Report Ref No. CS3/CTI19016797/Aqf3e2-2

RECOMMENDED COST OF LUMP SUM REPAIRS

(TO ITS PRE-ACCIDENT CONDITION)(FRONT



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying of



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMK 72E

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF REAR PARTS			
1	REAR BUMPER	BROKEN	1,909.00	1,590.00
1	REAR BUMPER LOWER SKIRT	BROKEN	235.75	235.75
1	REAR BUMPER REINFORCEMENT	BUCKLED	701.50	701.50
1	REAR BUMPER TOW HOOK COVER	MISSING	63.25	63.25
1	REAR BUMPER CTR CHROME MOULDING	BROKEN	281.75	281.75
2	REAR BUMPER SIDE CHROME MOULDING @\$106.95	BROKEN	213.90	213.90
2	REAR BUMPER SIDE RETAINER @\$75.00	NECESSARY	150.00	150.00
1	SET REAR BUMPER CLIPS	NECESSARY	35.00	35.00
3	REVERSE SENSOR @\$299.00	DAMAGED (2 PCS ONLY)	897.00	598.00
1	R/H REAR UNDER COVER	BROKEN	364.55	195.00
1	REAR END PANEL	BUCKLED	1,529.50	1,330.00
1	REAR END PANEL TOP GARNISH	BROKEN	143.75	143.75
1	SPARE TYRE PANEL	DAMAGED	586.50	586.50
1	SPARE TYRE R/H SIDE PANEL	TO REPAIR SEE LABOUR	455.00	-
1	REAR WIRE HARNESS	NOT NECESSARY	879.00	-
1	BOOTLID	BUCKLED	2,323.00	2,323.00
1	BOOTLID INNER LOCK	JAMMED	345.00	345.00
1	BOOTLID CHROME GARNISH	BROKEN	143.75	143.75
1	BOOTLID LOGO EMBLEM	NECESSARY	59.80	59.80
1	BOOTLID "C180" EMBLEM	NECESSARY	89.70	89.70
1	L/H REAR PASSENGERS SEAT BELT	ACTIVATED	965.20	725.00
1	R/H REAR PASSENGERS SEAT BELT	ACTIVATED	965.20	725.00
2	REAR PASSENGERS SEAT BELT BUCKLE @\$321.10	NOT NECESSARY	642.20	-
1	BOOTLID "CC" EMBLEM	NECESSARY	63.25	63.25
1	BOOTLID INNER TRIM	DEFORMED	253.00	253.00
1	SET BOOTLID INNER TRIM CLIPS	NECESSARY	35.00	35.00
1	BOOTLID INNER HANDLE	DEFORMED	224.25	224.25
1	BOOTLID LOCK ACTUATOR W/INSULATION COVER	DAMAGED	483.00	483.00
2	BOOTLID HINGE @\$235.00	BENT	470.00	470.00
2	BOOTLID HINGE COWLING @\$64.00	NOT NECESSARY	128.00	-

Report Ref No. CS3/CTI19016797/Aqf3e2-2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
2	BOOTLID SIDE DRIP COWLING @\$76.00	O/S DEFORMED / N/S NOT NECESSARY	152.00	76.00
1	BOOTLID WEATHERSTRIP	DEFORMED	287.50	287.50
1	L/H TAILLAMP	BROKEN	805.00	805.00
1	R/H TAILLAMP	BROKEN	805.00	805.00
1	R/H TAILLAMP INNER PANEL	BUCKLED	253.00	253.00
1	R/H REAR FENDER	BUCKLED	2,765.00	2,265.00
1	R/H REAR FENDER INNER TRIM	DEFORMED	293.25	293.25
1	R/H REAR FENDER AIR VENT	BROKEN	29.90	29.90
1	R/H REAR DOOR	TO REPAIR SEE LABOUR	2,357.50	-
	LESS 10% DISCOUNT		-	-1,687.88
			23,383.95	15,190.92
	SPECIAL NETT ITEMS			
1	REAR NO. PLATE (SN)	BROKEN	60.00	50.00
1	REAR NO. PLATE FRAME (SN)	BROKEN	35.00	35.00
			95.00	85.00
	<u>LABOUR</u>			
	TO PANEL BEAT AND RENEWAL OF ALL NECESSARY DAMAGED BODY PARTS.INCLUSIVE OF THE REPAIR OF SPARE TYRE R/H SIDE PANEL AND RH REAR DOOR.		3,080.00	2,200.00
	TO RESET CODING.		120.00	75.00
	TO CHECK REAR WIRING AND REWIRE.		80.00	30.00
	TO REMOVE AND REINSTALL BOOTLID COMPONENTS.		80.00	30.00
	TO REMOVE AND REINSTALL REAR BOOT UPHOLSTERY.		120.00	50.00
	TO REMOVE AND REINSTALL REAR SEAT CUSHION.		240.00	120.00
	TO REMOVE AND REINSTALL REAR WINDSCREEN.		150.00	120.00
	TO REMOVE AND REINSTALL REAR QUARTER GLASS.		100.00	60.00
	TO REMOVE AND REINSTALL REVERSE SENSOR.		140.00	60.00
	TO REMOVE AND REINSTALL REAR EXHAUST MUFFLER.		120.00	100.00
	TO REMOVE AND REINSTALL FUEL TANK.		160.00	80.00
	TO PERFORM 4 WHEEL ALIGNMENT.		120.00	80.00
	TO STRAIGHTEN REAR CHASSIS MEMBER.		400.00	280.00

Report Ref No. CS3/CTI19016797/Aqf3e2-2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	TO APPLY ANTI-RUST.		192.00	120.00
	TO PUTTY AND SPRAY-PAINT OF AFFECTED AREAS.		1,733.00	1,200.00
			6,835.00	4,605.00
	GRAND TOTAL		30,313.95	19,880.92

RECOMMENDED COST OF LUMP SUM REPAIRS	15,900.00
(TO ITS PRE-ACCIDENT CONDITION)(REAR	
PORTION)	

Report Ref No. CS3/CTI19016797/Aqf3e2-2



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.